KARNATAKA VETERINARY, ANIMAL AND FISHERIES SCIENCES UNIVERSITY, BIDAR COLLEGE OF FISHERIES, MANGALURU-575002

No.FCM/EB/2020-21

Date: 04.12.2020

QUOTATION ENQUIRY

Sub: Quotation towards the providing and fixing Ceiling lights, Wiring and other Electrical works at Seminar Hall, College of Fisheries, Mangaluru-reg.

With reference to the above cited subject, sealed quotations are invited for following work. The quotations should reach the undersigned on or before <u>12.12.2020</u>.

Please refer Schedule B page for detailed work description.

Note:

- 1. Quotations received after last date and having description of the materials incomplete will not be entertained.
- 2. Quotations should be raised in favour of "Dean, College of Fisheries, Mangaluru"
- 3. Write compulsory reference number and quotations last date on sealed covers.
- 4. Rates should be quoted in Indian currency per unit.
- 5. Details of tax etc. should be mentioned separately.
- 6. GST/ PAN/ TIN numbers should be mentioned in the quotation.
- 7. Lowest quotation rate would be accepted.
- 8. The total amount for all the above items will considered for calculation and placing order is subject to meeting all the above conditions.

Yours Faithfully,

Dean (Fisheries) Soldes of Fisheries

Mangadutoro.

Copy to:

- 1) Notice Board, College of Fisheries, Mangaluru
- 2) Notice Board, Technology wing, Hoige Bazar
- 3) Assistant Comptroller, COF, Mangaluru for kind information
- 4) College Website: www.cofm.edu.in

Schedule - B

Name of work: Providing and fixing Ceiling lights, Wiring and other Electrical works at Seminar Hall, College of Fisheries, Mangaluru

Amount of Estimate: Rs. 89000.00

Name of Contractor:

Notification No:

Last date for submission:

No. of items: 16 (Sixteen only)

SI. No	Particulars	Qty	Unit	Rate as per SR	Amount	Rate quoted by contractor in figures and words	Amount
	Supplying and wiring adopting loop system in existing PVC conduit/casing capping using 1100V grade, COPPER conductor flexible multistrand FRLS PVC insulated, 2 X 1.5Sq.mm. Cable confirming to the GTP, with a 6Amps flush type SP control switch shall be fixed on the existing plastic sheet / gang box, the other end of the wires shall be terminated with sufficient loose length in a wood/PVC round block.complete for each outlet. Short point upto 3 Mtr from tapping point out let via switch	40.00	Point	191.40	7656.00		
2	Supplying and wiring adopting loop system in existing PVC conduit/casing capping using 1100V grade, COPPER conductor flexible multistrand FRLS PVC insulated, 2 X 1.5Sq.mm. Cable confirming to the GTP, with a 6Amps flush type SP control switch shall be fixed on the existing plastic sheet / gang box, the other end of the wires shall be terminated with sufficient loose length in a wood/PVC round block.complete for each outlet. Medium point above 3 mtr upto 6 mtr from tapping point to out let via switch	2.00	Point	269.50	539.00		

No. of Corrections	()
No. of Overwriting	()

Signature of Contractor

Professor and Head

3	Supplying and wiring adopting loop system in existing PVC conduit/casing capping using 1100V grade, COPPER conductor flexible multistrand FRLS PVC insulated, 2 X 1.5Sq.mm. Cable confirming to the GTP, with a 6Amps flush type SP control switch shall be fixed on the existing plastic sheet / gang box, the other end of the wires shall be terminated with sufficient loose length in a wood/PVC round block.complete for each outlet. Long point above 6 mtr upto 10 mtr from tapping point to out let via switch	4.00	Point	399.30	1597.20	
4	Supplying heavy gauge PVC Conduict pipe dia mm thick confirming to IS 2509 with suitable size bends, junction boxes, adhesive paste etc, and fixing using inverted wood plugs in case of RCC wall/ stone structure or rawl plugs in case of brick walls and cement plastering the damaged portion using heavy gauge saddles at an interval of 700mm using NF screws pvc pipe. 19/20mm dia 2mm thick	180.00	Rmt	59.40	10692.00	
5	Wiring for lighting/power circuit using one of FRLS PVC insulated 1100V grade, multistrand Copper with low conductor resistance single core wire in open or concealed system of wiring with specified IS-694:1990 & confirming to GTP of GROUP-A . 1 Sqmm	540.00	Rmt	14.30	7722.00	
6	Wiring for lighting/power circuit using one of FRLS PVC insulated 1100V grade, multistrand Copper with low conductor resistance single core wire in open or concealed system of wiring with specified IS-694:1990 & confirming to GTP of GROUP-A. 1.5sqmm	180.00	Rmt	20.46	3682.80	

No. of Corrections	()
No. of Overwriting	()

Signature of Contractor

Professor and Head

7	Wiring for lighting/power circuit using one of FRLS PVC insulated 1100V grade, multistrand Copper with low conductor resistance single core wire in open or concealed system of wiring with specified IS-694:1990 & confirming to GTP of GROUP-A . 4 sqm	50.00	Rmt	20.46	1023.00	
	Supplying and fixing surface flush mounting unbreakeable PVC modular Box suitable for mounting modular switch plates with due groove cutting in Brick/C.C. wall, including necessary rawl plugs, Machine /NF screws etc., complete. 1-3 way	14.00	Each	91.30	1278.20	
9	Supplying and flush mounting powder coated/Galvanised metal box suitable for mounting modular switch plates. The box should be firmly flush mounted after due groove cutting in Brick/Stone/CC wall 1-3 way		Each	100.10	1401.40	
10	/Projected type DP switch	6.00	Each	205.70	1234.20	
11	Supply and fixing of Bakelite D.P socket switch with/without Neon indicator over existing wood board or flush mounting in plastic plates/nitches as per IS 1293 and IS 3854 16Amp Flush SP Switch	8.00	Nos	108.90	871.20	
12	existing metal/PVC box. 1 to 3 module	14.00	Each	119.90	1678.60	
13	Supplying CFL mirror light fitting with 1x11W CFL lamp, choke, Perspex cover and completely wired for use on 230V 50Hz AC supply	32.00	Nos	712.80	22809.60	

No.	Of Corrections ()
No	Of Overwriting ()

14	Supplying of 2' feet - LED PVC Square BatternW with high quality diffuser with Life of 25000 burning hours & 70% lumen maintenance with CRI>80. Power Input: 220-240V @ 50Hz & Power factor >0.9 along with CE approved drivers. 5years Warranty against any manufacturing defect working under standard electrical condition. LED light fighting 2'-14 watts	8.00	Each	1540.00	12320.00	
15	Supplying and fixing LED Strip	16.70	Rmt	500.00	8350.00	
	Fixing all types and all capacities of fluoresent/false ceiling / spot light / CFL / LED fittings indoor on the wall/ ceiling / rafters / girders using 23/0.0076" twin twisted PVC insulated wires, required Nos of round blocks and clamps. On wall / ceiling / rafters / girders	40.00	Each	107.80	4312.00	
			To	tal Rs	87167.20	

No. Of Corrections ()
No. Of Overwriting ()

Signature of Contractor

Professor and Head